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T RETOS ¢ 2rTred 50T 0.34% 06S $¢D. 3.3 g © rRridS
c0d) Fe DGaIPEN0) ) 0B o)OES?

Question: i
(A0 : Fe ad8ai7e) 23700 = 56 u.
SDOOSD N = 6.022 x 102 mol™1)

A: 1.21 x 10°




B: 12.0 x 1010
1.21 x 10%C
D: 3.4 % 10%?
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1806 7¢3Q) ¢3 ETB0ET D 5275030 D (B0 e0.0830680.

A. CaF,
Question: B4l

C. CaBr,

D. Cal,

B0 005 DO DO BTN Do) Sod.
A: BxA<E<D
B: A<B<C<D
C: A<B<D<C
D: A<C<B=<D
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Item No: 63
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XII o5 €53 1e3 DT, a8 BaroD T Q) ol oNC/Tew pH
8.26 150> 2.8 DR, DT (TPHETR) AT TANDHTD. Desdew 0.2
M 5352305 |Z3756906T EENDHONS e ACH0 TBE HBSPR0,
2.5 O 2500 HOITED TO0EIBY (to make one litre of the buffer Jo)0e5?

Question:
(R0 : pKy, (NH;3) = 4.74
NH; 230°¢>»5 280 = 17 g mol ™!
NH,Cl 3erD 23S0 = 53.5 g mol ™)
A 53.5¢
B: 723 g
C: 107.0 ¢
D: 1260 ¢g
Topic: Chemistry-Section A

Item No:

64




Question ID:

1449664

Question Type:

MCQ

30°C 659G, AB, DOIr2a8 @7 Aineg) 200 s DO e9T°C5wed) AB, &6

Question: TGaeh 2D @ 8adCAC. 80% AB, 2)O3NZ3M0 TIOLNEIEY AEPT'EI0 o)Oeh ?
(AL M) : log 2 =0.30 s0OCI log 3 =0.48)

A 200 s

B: 323 s

C: 467 s

D: 532 s

Topic: Chemistry-Section A

Item No: 65

Question ID: 1449665

Question Type: | MCQ

18025 BOCD QIBEIEN 96d 52BN, 2,5¢3 DB)edad0 A HBC Boched
PR SPEE90 R T FDOTTD |

DB )50 A:e988 IPE 1T VOMPHO DD BOMHE G0ENOE. 589
DOITEI0 DOAS Trdd & 50aes OO BTN DSIBT FD

QUESION: | 6 e’ D] SrEE0B.
5256930 R: TFOONE |TPededed) S0, Segred o0 58 a8 o) T3ahanss
DOE R (scattered) 52063 SS501 B0 2 TV GOENOD.
2 DeIBEIE) esTTOOTT, 655065 OB 23a3°2206% ) OTHTENIN.
A: A DO R &0 8GN Q05 R @D A GI0E) Q800 Daddiea.
5 A DO R 0 83D 5 R 2200000 A G30E) 8GN adBEd
' S°C.
A Q0D 520 R AOTDIE 5°C.
A QOGHAA 59N 550 R Q0D
Topic: Chemistry-Section A
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Question ID: 1449666
Question Type: | MCQ

965203 |5 W0 EOA, Q) 350 D0 2.8 Sareidn

Question: (metalloid) &0 ¢SS &3y S'sF0 DE?
A: Al

B: Ga

C: Se

D:

In




Topic:

Chemistry-Section A

Item No: 67
Question ID: 1449667
Question Type: | MCQ

Question: S OBIB 8 DO HOWNTTEIEAN TR FoFBA 5570 E?
A Aluminium

B Iron

C: Lead

D Zinc

Topic: Chemistry-Section A

Item No: 68

Question ID: 1449668

Question Type: | MCQ

ITIEES DOENSE & eaDE e SFEFNON0 DT IONTE L85 5

Question: 0D 18O 2T ))?
A: Mn*", H,0 S5

B: Mn”". H,0 25530

C: Mn*". H,0, 0, 5753

D: Mn”", H,0, 0, (€50
Topic: Chemistry-Section A

Item No: 69

Question ID: 1449669

Question Type: | MCQ

180 BOth DG Wad AN 2,563 DB )b A SHOCD BOed
TR S8 R T PO |
DB )ebSm A:LIF A3 @) (TeIedched 6.

Question: 58950 R: Li” 33n¥) e0airdd arsardam, o 11178 Sroseerds,
€965£0) 3530, SPoY)d T8 96550 ) T Bod® OGTTE) ) G0N0 R.
2 DIGEIE) eSTIGOMT, @0¢55065 OB A 236772005 )OTNT .
A: A DOCIN R 0 8GN Q05 R @cdcd A GR0E) Q800 Daddiea.
B. A HB0M R 20 DO 57 R €908 A G30E) 80 aeded

5.

A JOTHIA TO R HOTIO T,

A DOTSA T T°Q R SOTHAO.




Topic:

Chemistry-Section A

Item No: 70
Question ID: 1449670
Question Type: | MCQ

180 BOCR DIBEIEN Wad 5ANR. 2,563 DB)edd0 A SHOC TOed
TR 5B R T PO |
DB )5S0 A: 50T e300 2.8 5T e300,

QeSO | S Beassm R: 2508 e300, 0 50650TF H 0057 &0 DEcde> Sonse.
e 3OO OH D (oo H @005rd ) EEsed DA,
2 DIGE2e) eTIGOTT, @e55065 ¢HID A 236772000 DOTN T,
A: A SO0 R 0 OO0HAD Q05° R @acd A G308 80D 08,
5 A B R €0 HOTRD 5% R 980850 A TN 0TS DS
SV
A QOTHAE 57 R 0O 5°¢N.
ADOTAEE T T R HOTSA.
Topic: Chemistry-Section A
Item No: 71
Question ID: 1449671
Question Type: | MCQ
Question: GO @ARNRT)0H DOFadsdn E? (DTN DOWE: Fe,26: Cu,29)
A: K;[Cu(CN),]
B K [Cu(CN),]
C: K;[Fe(CN)4]
D K4[FeClg]
Topic: Chemistry-Section A
Item No: 72
Question ID: 1449672
Question Type: | MCQ




V-1 OV & 236 HEH0E.
ON-1 OR-1I
HdSo gred yed Do
A g 228500 L 2% K5 DD (Strip mining)
Question:
B. 30520 SFA5eD I figar 5T°en
C. DAHeTE S en TIL SaFoS JB0e3en
D. 350G (Sediment) IV. 3o DO
QBT DR, D) Fod::
A: A-IL B-III. C-TIV, D-I
B: A-ILL B-1. C-IV D-III
C: A-I. B-IV. C-II. D-III
D: A-l. B-IV. C-III, D-IT
Topic: Chemistry-Section A
Item No: 73
Question ID: 1449673
Question Type: | MCQ

TUPAC 6350960 07308559500 [2957¢5a300, [83e3008) cdeT6e3®e) (argredged edth

Question: 3 .

O (Badadd )& ?
A — COOH > — CONH, > — COCl > — CHO
B: — SO;H>—COCl>—CONH, > —CN
C: — COOR>—COCI>—NH,> >C = 0
D: — COOH > — COOR > — CONH, > — COCl
Topic: Chemistry-Section A
Item No: 74
Question ID: 1449674
Question Type: | MCQ

Question:

1B0A a¢36T DO BT ONG Do TeIS0E) STt TC0?




-~
C: |
g
/,.’—\.,/NH 2
D |
s
Topic: Chemistry-Section A
Item No: 75

Question ID: 1449675

Question Type: | MCQ

Question: Q) OFTA), @D B DN TV IO 300D BTN J0?

A: SN

B BoEd B dvE* oo SBH
C: Board STEH

D 2003 O SersS

Topic: Chemistry-Section A

Item No: 76

Question ID: 1449676

Question Type: | MCQ

0

! i) DIBAL-H
Et0 —C —H,C cucen WOBAT
Question: (i) H,0

{Et iS —C2H5]
23 550 HOBOOD, (DS 18TPar:d)) EFarotiod.

A OHC — HyC ﬁ CH,CH,CHO

O

: l
B: EtO — C — H,C @ CH,CH,CHO




0
I

C: EO —C — uzcﬁ CH,CH,COOH
D: OHC — H,C Q CH,CH,COOH
Topic: Chemistry-Section A

Item No: 77

Question ID: 1449677

Question Type: | MCQ

1B0A L5850 OO SPE5PE) @ Fadedn )E?
NO, OH

Question: @ 3 @
NH, l

A: HNO,, Fe/H". HNO,. KI, H,O/H"

B: HNO,. KL, Fe/H". HNO,, H,0O/ PN IRN

C: HNO,, KI, HNO,. FeH™, H,OH"

D: HNO,, Fe/H™, KI. HNO,, H,0/ 373

Topic: Chemistry-Section A

Item No: 78

Question ID: 1449678

Question Type: | MCQ

Question: & DFSITQ) A TR 52210 SO TBAS 23EHe0E?
A: DS OGN VES

B: QTP O D)5

C: DD NOAI S35

D: QTS HOAD PES

Topic: Chemistry-Section A

Item No: 79

Question ID: 1449679

Question Type: | MCQ




Question: TR 230¢5) "D, (Animal starch) e H3CS 0EFH.
A: es0e52S

B oy

C: 0820

D NS DES

Topic: Chemistry-Section A

Item No: 80

Question ID: | 1449680

Question Type: | MCQ

180 BOC DIBEIEN Wed 5ANN. 2,563 DB )b A HOOSN BOcked
PR SPEE9D R TP FDOTTD |
DB)BSW A: DTS TOS €90 pH 2 STENGS OrDE. e e

Question: 1T52006Y SOMHBA redd 528 O5rsE0eS’ 908 B0 G0,
5252030 R: DS S 2.8 22057 e300, e9d) T8 asrdgosS
0DNESEI0 TOS.

) DeIBEIE esTTOOTT, 655065 DA 23a°2200% ) OTHTENIW.
A: A NG R 20 D08 RO5° R @cdAQ A 005 Q83D a)adBed.
B: A DO R 20 Q80D 57 R €200000 A T30E) OB edBed
' LAV
A QOTHAE 32 R 8D 5°¢.

D: A QOGDHAA 590 570 R 00D,

Topic: Chemistry-Section B

Iltem No: 81

Question ID: | 1449681

Question Type:

Numeric Answer

6 bar OO 27°C 856G 0.0125 m® SNDOIFEIO 110 aF(eheS 10 g
TFE2RS SO0 OGN0 MWFN0 ELA. MFDS ardano

Question: rANele) g.
QW 9R): R=8.3 JK ! mol™!
(H 8050 He © OSSP 237070 200 1u 08050 4u)
Topic: Chemistry-Section B
Item No: 82
Question ID: 1449682

Question Type:

Numeric Answer




2.8 €25 @aird, Bx3 & HOIO00A. @airdS & &)

Question: 22
DO TR © EOT ‘a’% )50} ) cdIPELETR C0RP) 0N, ‘a” )N :
Topic: Chemistry-Section B
Item No: 83
Question ID: 1449683

Question Type:

Numeric Answer

H,Fy(g)— Hy(2)Fi(g)
HOFEY 27°C 5L AU=—59.6 kI mol L .

Question:
2 98580 oS S (1) kJ mol™! [¢5818 ST 0&5m]
QDS R =8.314 TK ~mol ™!,

Topic: Chemistry-Section B

Item No: 84

Question ID: 1449684

Question Type:

Numeric Answer

COZTAT IR (TPDHI0 A 10 1 FPerS (T7769095) 2775102963685 TS &9 6
3K. @03 530 A 2 IPEPS [P s d0d Bed Qadd) €8, eoT3

Question: o :
1T9e36T, 6 K. Ky <0005 Kp © NS ie.. KyKeDewsd 1: X @00, X
EALSVEN

Topic: Chemistry-Section B

Item No: 85

Question ID: 1449685

Question Type:

Numeric Answer

0% KI 00806, 75 rdEnOa3riod) 10 mL © $2H5 HS)E
|TPIETR)) @0F T30 TIO0EIED 20 mL © 0.02 M 378 [T 0

SINE IR, Cu?™ T3, Irerdes x 1072 M.
Question: AL ARTNER
2 Gt AT Cugls £ 1
1,+28,05 ->2I+ 5,0;"
Topic: Chemistry-Section B
Item No: 86
Question ID: 1449686

Question Type:

Numeric Answer




1B0A 985S DB (Boireddso B & &) @ahQEBe0 T
|EFEPD © DO

Question:
C,H;OH + PCl; —C,H:;Cl + A
A+PCl; —-B

Topic: Chemistry-Section B

Iltem No: 87

Question ID: 1449687

Question Type:

Numeric Answer

MnF ;. MnF3 S00050 MnF, ©6 2030 e38 )58 ardnd:o e

Question: AR02FIY) RF-3T (€533 @900 (2705 QN6 B.M.
(516 &y Tro¥sm]

Topic: Chemistry-Section B

Item No: 88

Question ID: 1449688

Question Type:

Numeric Answer

BSOS DI TN O ISTOTAS TR ©D0wH DFND en

Question:
(IBDBAH 0PSB D FeNHTR) DowsE .
Topic: Chemistry-Section B
Item No: 89
Question ID: 1449689

Question Type:

Numeric Answer

2,8 100 mL & CH3CH,MgBr |I36T0)) eSS 6 <585 R0 D) e,

Question: STP o3¢ 2.24 mL &°A506Y) o900, DENEIIONS TP aSD 23780
mg.

Topic: Chemistry-Section B

Item No: 90

Question ID: 1449690

Question Type:

Numeric Answer

Question:

1806 HOHOS O 1§05 iE DXy airoe3ainess %o
GG QOPS:
2,85 1080, DAVOS G, TBIAASPS, arer 58S,




